

Apartment in Sliema



Sliema, Sliema and St Julians Surroundings



€808,000

Reference No: 240231027-232

 Total Rooms: **7**

 Floor Area (m²) : **150**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Sliema

SLIEMA – 150SQM Double Front Apartment situated on the 3rd floor and served by a lift, this seafront apartment in Sliema offers 150sqm of living space. The layout features a spacious living and dining area opening onto a front balcony where you can enjoy some of the best views of Malta, a separate kitchen, 3 double bedrooms (main with en suite and back balcony), a main bathroom, and a box room. Being sold freehold, with potential to convert into a four-bedroom residence. Highly recommended viewing.

Features

- ✓ Lift
- ✓ En Suite
- ✓ Electricity Utility
- ✓ Kitchen/Dinette
- ✓ Entrance Hall
- ✓ Balcony

Rooms

- ✓ Living/Dining : 6.1 x 4.47 m (27.27 m2)
- ✓ Kitchen : 4.3 x 2.5 m (10.75 m2)
- ✓ Double Bedroom : 4.3 x 3.3 m (14.19 m2)
- ✓ Double Bedroom : 3.1 x 3.65 m (11.31 m2)
- ✓ Double Bedroom : 5.2 x 3.5 m (18.2 m2)
- ✓ Bathroom : 3.2 x 2.3 m (7.36 m2)
- ✓ Bathroom Ensuite : 2 x 1.5 m (3 m2)
- ✓ Hall : 6.3 x 2.5 m (15.75 m2)
- ✓ Open Space : 7.3 x 1 m (7.3 m2)

Gallery









Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta